



(VI)

July'02 Putting the value in eqn<sup>n</sup> (3)

05  
Friday

$$\frac{d}{dT_b} [\ln X_A] = \frac{\Delta_{\text{vap}} H_{m,A}}{RT_b^2}$$

$$\frac{d}{dT_b} [(1-x_B)] = \frac{\Delta_{\text{vap}} H_{m,A}}{RT_b^2}$$

$$d[1-x_B] = \frac{\Delta_{\text{vap}} H_{m,A}}{RT_b^2} dT_b \rightarrow (4)$$

Integrating within the limit  $T_b^*$  (b.pt of the pure <sup>vapour</sup> gas) and  $T_b$  (b.pt of the solution).

$$\int d(1-x_B) = \int_{T_b^*}^{T_b} \frac{\Delta_{\text{vap}} H_{m,A}}{RT_b^2} dT_b$$

$$\ln(1-x_B) = \frac{\Delta_{\text{vap}} H_{m,A}}{R} \int_{T_b^*}^{T_b} \frac{1}{T_b^2} dT_b$$

$$\ln(1-x_B) = \frac{\Delta_{\text{vap}} H_{m,A}}{R} \left( \frac{1}{T_b} - \frac{1}{T_b^*} \right) \rightarrow (5)$$

Since the amount of solute is very small  $x_B \ll 1$  we can write  $\ln(1-x_B) \approx -x_B$

$$-x_B = \frac{\Delta_{\text{vap}} H_{m,A}}{R} \left( \frac{T_b^* - T_b}{T_b T_b^*} \right)$$

$$\text{or } x_B = \frac{\Delta_{\text{vap}} H_{m,A}}{R} \left( \frac{T_b - T_b^*}{T_b T_b^*} \right) \rightarrow (6)$$

Since  $T$  is almost equal to  $T_b^*$  so  $T_b T_b^*$  can be replaced by  $(T_b^*)^2$

06  
Saturday

